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NEW QUESTION 1
Which one of the following code examples uses valid Java syntax?

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 2
Given:

What is the result?

A. A B C D
B. A C D
C. A C D D
D. A B D
E. A B D C

Answer: C

NEW QUESTION 3
Given the following classes:
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Which two options fail to compile when placed at line n1 of the main method? (Choose two.)

A. employee.salary = 50_000;
B. director.salary = 80_000;
C. employee.budget = 200_000;
D. manager.budget = 1_000_000;
E. manager.stockOption = 500;
F. director.stockOptions = 1_000;

Answer: CE

NEW QUESTION 4
Given the code fragments:
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Which code fragment, when inserted at line n1, enables the code to print Hank?

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 5
Given:

Which code fragment can replace the if block?

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 6
Given:
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What is the result?

A. Hello Log 1:0
B. Hello Log 2:1
C. Welcome Log 2:1
D. Welcome Log 1:0

Answer: C

NEW QUESTION 7
Given the code fragment:

What is the result?

A. 100
B. 101
C. 102
D. 103
E. Compilation fails

Answer: E

NEW QUESTION 8
Given this code for a Planet object:

What is the output?
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A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: C

NEW QUESTION 9
Given:

What is the result?

A. Compilation fails at line n3 and line n4.
B. Compilation fails at line n1 and line n2.
C. Welcome Visit Count:1Welcome Visit Count: 1
D. Welcome Visit Count:1Welcome Visit Count: 2

Answer: B

NEW QUESTION 10
Which two are benefits of polymorphism? (Choose two.)

A. Faster code at runtime
B. More efficient code at runtime
C. More dynamic code at runtime
D. More flexible and reusable code
E. Code that is protected from extension by other classes

Answer: BD

NEW QUESTION 10
Given:
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What is the result?

A. Compilation fails.
B. false true
C. true false
D. true true
E. false false

Answer: C

Explanation: 

NEW QUESTION 15
Given:

What is the result?

A. AB
B. AC
C. CC
D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: B

NEW QUESTION 18
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Given the code fragment:

What is the result?

A. A NullPointerException is thrown at runtim
B. [1, 2, 4]
C. [1, 2, 4, null]
D. [1, 3, 4, null]
E. [1, 3, 4]
F. Compilation fails.

Answer: B

NEW QUESTION 19
Given the code fragment:

What is the result?

A. 1324
B. 2313
C. 3142
D. 4231

Answer: D

NEW QUESTION 23
Given the code from the Greeting.Java file:

Which set of commands prints Hello Duke in the console?

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C
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NEW QUESTION 25
Given these two classes:

Any amount of electricity used by a customer (represented by an instance of the Customer class) must contribute to the customer's bill (represented by the
member variable bill) through the useElectricity method.
An instance of the Customer class should never be able to tamper with or decrease the value of the member variable bill.
How should you write methods in the ElectricAccount class at line n1 so that the member variable bill is always equal to the value of the member variable kwh
multiplied by the member variable rate?

A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

NEW QUESTION 30
Which two statements are true about Java byte code? (Choose two.)

A. It can be serialized across network.
B. It can run on any platform that has a Java compiler.
C. It can run on any platform.
D. It has “.java” extension.
E. It can run on any platform that has the Java Runtime Environment.
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Answer: AE

NEW QUESTION 31
This grid shows the state of a 2D array:

The grid is created with this code:

Which line of code, when inserted in place of //line n1, adds an X into the grid so that the grid contains three consecutive Xs?

A. grid[2][1] = ‘X’;
B. grid[3][2] = ‘X’;
C. grid[3][1] = ‘X’;
D. grid[2][3] = ‘X’;

Answer: D

NEW QUESTION 32
Given the code fragment:

Which two modifications, when made independently, enable the code to print Joe:true: 100.0? (Choose two.)

A. Option A
B. Option B
C. Option C
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D. Option D
E. Option E

Answer: AC

NEW QUESTION 33
Given:

What is the result?

A. 200.0 : 100.0
B. 400.0 : 200.0
C. 400.0 : 100.0
D. Compilation fails.

Answer: C

NEW QUESTION 34
Given:

What is the result?

A. 3 4 5 6
B. 3 4 3 6
C. 5 4 5 6
D. 3 6 4 6

Answer: C

NEW QUESTION 37
Which three statements are true about exception handling? (Choose three.)

A. Only unchecked exceptions can be rethrown.
B. All subclasses of the RuntimeException class are not recoverable.
C. The parameter in a catch block is of Throwable type.
D. All subclasses of the RuntimeException class must be caught or declared to be thrown.
E. All subclasses of the RuntimeException class are unchecked exceptions.
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F. All subclasses of the Error class are not recoverable.

Answer: BCD

NEW QUESTION 38
Given:

What is the result?

A. AB
B. AC
C. CC
D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: D

NEW QUESTION 43
Given the code fragment:

Which three code fragments are valid at line n1?
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A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: CDE

NEW QUESTION 44
Which is true about the switch statement?

A. Its expression can evaluate to a collection of values.
B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.
D. It must contain the default section.

Answer: B

NEW QUESTION 45
Which statement is true about Java byte code?

A. It can run on any platform.
B. It can run on any platform only if it was compiled for that platform.
C. It can run on any platform that has the Java Runtime Environment.
D. It can run on any platform that has a Java compiler.
E. It can run on any platform only if that platform has both the Java Runtime Environment and a Java compiler.

Answer: D

Explanation: 
Java bytecodes help make "write once, run anywhere" possible. You can compile your program into bytecodes on any platform that has a Java compiler. The
bytecodes can then be run on any implementation of the Java VM. That means that as long as a computer has a Java VM, the same program written in the Java
programming language can run on Windows 2000, a Solaris workstation, or on an iMac.

NEW QUESTION 48
Given this class:

And given this main method, located in another class:
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Which three pieces of code, when inserted independently, set the value of amount to 100?

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
F. Option F

Answer: DE

NEW QUESTION 52
Given:
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What is the result?

A. BaseDerivedA
B. BaseDerivedB
C. DerivedBDerivedB
D. DerivedBDerivedA
E. A ClassCastException is thrown at runtime.

Answer: D

NEW QUESTION 53
Given the code fragment:

Which code fragment, when inserted at line 9, enables the code to print true?

A. String str2 = str1;
B. String str2 = new String(str1);
C. String str2 = sb1. toString();
D. String str2 = "Duke";

Answer: A

NEW QUESTION 54
Given the code snippet from a compiled Java source file:

Which command-line arguments should you pass to the program to obtain the following output? Arg is 2

A. java MyFile 1 3 2 2
B. java MyFile 2 2 2
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C. java MyFile 1 2 2 3 4
D. java MyFile 0 1 2 3

Answer: A

NEW QUESTION 55
Given:

What is the result?

A. 10 Hello Hello 11
B. 10 Hello Hello 121
C. 100 Hello 121
D. 100 Hello Hello 121
E. 10 Hello 11

Answer: E

NEW QUESTION 59
Given the code fragment:

What is the result?

A. 2012-02-10
B. 2012-01-30
C. 2012-02-10 00:00
D. A DateTimeException is thrown at runtime.

Answer: C

NEW QUESTION 62
Given:
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What is the result?

A. 10 20 30 40
B. 0 0 30 40
C. Compilation fails.
D. An exception is thrown at runtime.

Answer: C

NEW QUESTION 63
Given the code fragment:

What is the result?

A. 3
B. 4
C. -1
D. Compilation fails.

Answer: A

NEW QUESTION 65
Which three are advantages of the Java exception mechanism? (Choose three.)

A. Improves the program structure because the error handling code is separated from the normal program function
B. Provides a set of standard exceptions that covers all possible errors
C. Improves the program structure because the programmer can choose where to handle exceptions
D. Improves the program structure because exceptions must be handled in the method in which they occurred
E. Allows the creation of new exceptions that are customized to the particular program being created

Answer: ACE

NEW QUESTION 68
Which statement is true about the switch statement?

A. It must contain the default section.
B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.
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D. Its expression must evaluate to a collection of values.

Answer: B

NEW QUESTION 70
Given the code fragment:

Which modification enables the code to print 54321?

A. Replace line 6 with System.out.print (--x);
B. At line 7, insert x --;
C. Replace line 5 with while (is Available(--x)) {
D. Replace line 12 with return (x > 0) ? false : true;

Answer: C

NEW QUESTION 71
Given this segment of code:

Which two statements, if either were true, would make the code compile? (Choose two.)

A. MotorCycle is an interface that implements the Cycle class.
B. Cycle is an interface that is implemented by the MotorCycle class.
C. Cycle is an abstract superclass of MotorCycle.
D. Cycle and MotorCycle both extend the Transportation superclass.
E. Cycle and MotorCycle both implement the Transportation interface.
F. MotorCycle is a superclass of Cycle.

Answer: BC

NEW QUESTION 76
Which statement best describes encapsulation?

A. Encapsulation ensures that classes can be designed so that only certain fields and methods of an object are accessible from other objects.
B. Encapsulation ensures that classes can be designed so that their methods are inheritable.
C. Encapsulation ensures that classes can be designed with some fields and methods declared as abstract.
D. Encapsulation ensures that classes can be designed so that if a method has an argument MyType x, any subclass of MyType can be passed to that method.

Answer: A

NEW QUESTION 81
Which two statements are true? (Choose two.)

A. Error class is unextendable.
B. Error class is extendable.
C. Error is a RuntimeException.
D. Error is an Exception.
E. Error is a Throwable.

Answer: BC

NEW QUESTION 84
Given:

Passing Certification Exams Made Easy visit - https://www.surepassexam.com



Recommend!! Get the Full 1z0-808 dumps in VCE and PDF From SurePassExam
https://www.surepassexam.com/1z0-808-exam-dumps.html (156 New Questions)

What is the result?

A. 10:20
B. 0:20
C. Compilation fails at line n1
D. Compilation fails at line n2

Answer: D

NEW QUESTION 86
Given:

What is the result?

A. 10 : 30 : 6
B. 10 : 22 : 22
C. 10 : 22 : 20
D. 10 : 22 : 6

Answer: A

NEW QUESTION 90
......
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